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BRzO— X 8

/=2 HWERA L F—L% 1X XMk 2X XMk X XMk
1 1EF15929% BRRE T 275342F 185042 294305
2 1EF19952% JERUN i3 cE#Rel 294>05# 20 47F 30400#
3 185219207 HYHY =X 295343 184»32% 33405
4 1853149355 SON 3543 2495 12% 3243007
5 1BF37 93467 F—LlEdn 32547 26549 389 10%
6 185420478 TYZVIR—-FRER 37521 274308% 38518%
7 1854449 26% NBC.RC 3353407 29923% 419323%
8 1854495518 TYZVOR—F 37409% 2743597 399431
9 1854697 43% ToLEAR - AR Y = 395 14% 299 10% 38919%
10 185489 41% av--UyF— 3753437 294>00% 414358
11 185514097 Y HIHE 395407 31545% 399344
12 1EF53 0418 one for all 424939% 30931% 40931%
13 1BF57 9467 /=7 R 4693197 30455% 409328
14 185599317 FY7£—-X 455357 29433% 44501%
15 1BF599 417 YOZOPROJECT 4293417 309197 463417
16 21500348 HEbP AT 4445303 335318 435147
17 21506304 Yokai 514 11# 289326 4693 27%
18 285115457 BEHBY 2T 514>30% 415098 39506
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[#141]
XfH o (PEEE) FUN— F—LE FCEK
11X |R&—b~F 15 (7.7km) 19 B8RRI 77 215427
2X |1k~ 25F AT (5.3k m) 11 AUAY-X 185932%
3X |2 AT ~EE3F kAT (8.0k m) 19 B8R 77 2950514
[#241]
XfH o (PEEE) FUN— F—LEZ FCEK
1K | R&Z—b~515#aH (7.7km) 15 JERUN M8 cEdEl 2950514
2X 1Rk~ 25 AT (5.3k m) 19 B8R 77 189427
3X |2 kAT~ 3 kAT (8.0k m) 15 JERUN M8 cEdEl 30%00%%
[%31i1]
X fH o (PEEE) FUN— F—LE FCEK
11X |R&—b~%F 15 (7.7km) 11 HYAY =X 29343
2K |FE1FRHkAT~EE 2 HAT (5.3k m) 15 JERUN M8 cEdEl 2093471
3X |2 kAT ~EE3F kAT (8.0k m) 9 SON 325001




